AN

MAEE 6AWIETHE {FRHHRFR

T
(B4 FH)

= & #IE | #HIERTDEE WWIEZE &t
— fi% 3 &t F25 8,984,160 117,213 9,101,373
ERERRKRER=E 1,865,697 1,865,697
B EnEERRNN &5 216,620 216,620
nTERKR NS G 1,017,830 1,017,830
NEY—ERERSE 31,226 31,226
TKRKEFEXRNRE 1,009,622 1,009,622
MK RERFINRE F15 800 2,827 3,627
i &t 13,125,955 120,040 13,245,995




O—Ml=ft F2EMWETFTHE RAKHE

(Bfr:FH)

i B fHIERTDEE| 4 1E %8 &t HEBEOELAR
1 H L) 4,744,445 31,941 4,776,386 B & &R (EHEE)
2 K E 5 49,600 49,600
3 M O F A X & = 2,000 2,000
4 B OB B X £ 10,000 10,000
5 HASEEMSIRLR 9,000 9,000
6 EAFTEBIXMNE 105,568 105,568
7 WMAHEHEBRIMNE 582,000 582,000
8 BEMHRIAXF= 6,000 6,000
9 M A H X MF & 22,000 22,000
10 #1 A X f B 1 1
11 REREHEEIXTR 3,900 3,900
12 2#EERVEESR 119,540 119,540
13 EFAMRYFHH 52,901 52,901

HROO0F75 T EBEEEREXHS

14 B E X H % 1,375,253 75,090 1,450,343 ;&ﬁﬂ%%ﬁrm%f;ﬁ%#ﬁu%ﬁ«#ﬁ%%%ﬁaﬂ
5 8 X #H 2 774756 10,182  784,938| ) W E REME - ZATHANEXMEE
16 Bt E 1 A 29,595 29,595
17 & 5] & 130,002 130,002
18 #& A & 634,578 634,578
19 #& 4 i 30,000 30,000
20 &% 1 A 242,321 242,321
21 HT &' 60,700 60,700

® A& § 8,984,160 117,213 9,101,373




O—i =it F2EWETFHE RHKHE

(Bfr:FH)
il B fHIERTDEE| 4 IE %8 & HEBEOELAR
1 & & & 84,891 A 3,871 81,020 - S WM 14 5
2 % = 1,294,093 20,501 1,314,594 - A%
3 R 4 = 3,335,900 13,734| 3,349,634 - EFEFE CHELIXERIBHE
4 f % =1 720,369 68,366 788,735| - HFRoOF Vs F U EBEE
5 % & = 2,745 2,745
6 B M K E X & 56,139 A 2,150 53,989| - A&
7 B I & 528,389 30,000 558,389| - XBEXIESESE
8 = K & 914,036| A 1,010 913,026| - A4 &
9 H ;] = 323,845 323,845
10 #% B =1 1,174923| A 8357 1,166,566 A&
nm K F # B # 0 0
12 2 & & 537,229 537,229
13 & 52 H i 1,601 1,601
14 % ] = 10,000 10,000
A = 8,984,160 117,213 9,101,373




